
EE331 Devices and Circuits 1 
Spring 2014 

 

Homework 6 
Assigned on Friday, May 9 2014 

Due in class on Friday, May 16 2014 

 

1. Jaeger & Blalock Problem 6.39. Also compute the drain current 𝑖𝐷 when 𝑣𝑂 =  𝑉𝐿 for each 

case. Use the MOSFET parameters shown on p. 355 as needed. 

 

2. Jaeger & Blalock Problem 6.50. 

 

3. (a) Jaeger & Blalock Problem 6.59. (b) Jaeger & Blalock Problem 6.60. 

 

4. Jaeger & Blalock Problem 6.76. Use 𝑉𝐷𝐷 = 2.5 𝑉, 𝑉𝐺𝐺 = 4 𝑉, 𝑃 = 0.2 𝑚𝑊, 𝑉𝐿 = 0.2 𝑉, 𝑉𝑇𝑂 =

0.6 𝑉, 𝐾𝑛′ = 100 𝜇𝐴 𝑉2⁄ , 𝛾 = 0.5 𝑉
1

2, 2𝜑𝐹 = 0.6 𝑉.  

 

5. Jaeger & Blalock Problem 6.84. 

 

6. Jaeger & Blalock Problem 6.87.  

 

7. Jaeger & Blalock Problem 6.95. 

 

8. Jaeger & Blalock Problem 6.101. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Homework Problem 6.87 b) Tutorial: 

 

1. Use Multisim to create a schematic of a depletion load NMOS inverter. For the NMOS 

transistors, go to Place >> Component…. and use MOS_N : 

 

2. Double click the transistor on the schematic for which you would like to change parameters. The 

following window will appear. Fill in the Value parameter for the Length and Width you found in 

part a).: 

 

 



 

3. In this same window, click the button in the bottom right corner of this window that says “Edit 

model”. Another window will appear to “Edit Model.”Fill in the parameters you are given in the 

problem. Here is an example for one of the transistors:  

 

 

 

 

4. Go to Simulate >> Analyses >> DC operating point… and select the desired output. If you did part 

a) by hand correctly, the result for b) in Multisim should be within 10% of the expected value. 


